Honors Pre-Calculus

Final Exam Review #2: 2.5-2.7
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£(x)=[2h° +8x' ~15x° +22x + 5x[-8]
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List all possible rational zeros of f(x).

2. List all possible numbers of positive and

negative zeros using Descartes' Rule of Signs
for g(x)=3x"+2x* +x+3.
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and ¢) solve the depressed equation.

3. Find all zeros of f(x)=2x"-9x’ +8x* —x—60, given that x =1-2i is a zero. (Hint: what other zero
can you know immediately?)
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4. Given f(x)=2x"+9x”+14x+5,a) List all possible rational zeros, b) search for any rational zeros,

(a) Tl 25 rpts v+ TR | T
Tty r2 P L35 =T - /J’ A 2
,g ~” ;
=} S h
(by/ 29 s -2 e B | = 2=l |
E B e ——— - |
I 25 2 1o 19 [ | ¥
dh \i f ??vo‘%‘. , "'-_if y—2x
2 9 14 5 = ) 72 9 4 5 et
=t =} -7 p— et .
z 7 7 2~ g 1o ©
/*5')‘1 7@ v 2XE4EX +IO=0
2 9 xE+ 4+ & =0
~ q 5
s R i J Iz ‘:fé‘-“t?
et




Problems 5-6: Graph each rational function.

Provide all of the information requested.
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Horizontal osymptote and its equation:
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_on a number line using proper symbols.

Prob]ems 7-8: Solve each inequality. Write the solution in the proper interval format and graph the solution '
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9.  Given the graph of f(x), solve the inequality
f(x)=0. Write your solution in interval

notation and graph it on a number line with the
proper symbols.

| (=, wzzk) E—!)g_{ U [_:5) “fj ;

'\._._.._--——a'e'_-oﬂ'v -3




